AN Y el === 5=/ == bt E Y=
ST 3 FEE iR TEREFIER (10B~12A4%)
(KER BELER TER 1/1
e _ STRIRE .
&S| IZEEH TE4 ZiEEA HEEEH 2 T HA ;FEE SERIREH
D=1
S 3 7820
1| EXKEEISE |3F25HKEZTOMIE HRXETL - 41— TR 4,098,600 :;u 3 zlo g 15 E 68 Sf1 3 F£108 7H
T
S 3 6 4
2 | E/KEEISE |9RE 1 0SHKEREIS XSt REE 19,017,900 :;u 3 zlo g 29 E 69 S 3 £10 A 12 H
T
S 3 6 4
3 = WWEMER Y 7IBZKEEHFIE (KA HBMNITE 7,898,000 :;u 3 z 10 g 29 E 66 Sf 3 £10 A 29 H
T
S 3 6 A 28
4 | EAKEEISE [3F9ISHKERREISE ARSI S 16,940,000 2;132112122 68 S5 3 £11 A 9H
T
o 3 7820
5 | EAKEBEIE 3F1SHKEZOMHIE XSt hI R4 11,684,200 Z;:azllglgg 69 S 3 £11 A 15 H
T
o 3 9 2
6 | EXKEEIE 3581 250 KERREISE kKRAE&ttr—4s v 5,758,500 Z:l] 3 212 g 10 E 62 S 3 £11 A19H
T
o 3 10 6
7| EXKEBEIE 3F55HKEZOMHIE EQZAWA 17 Sk an 3,470,500 :;:32122102 70 S 3 £11 A 26 H
T
o 3 6 A 28
8 | E/KEBEISE |35 SHKERNRIEIE kXt 77€X 17,361,300 2;132112262 69 S 3 F£11 A 26 H
r
+f 3 6 A 28
9 | EAKEBEIE 3FE8SHKERRTIE ettt H T 34,416,800 Z;‘qz 12212 68 S5fM 3 £12 8 3 H
r
= T R +M 2 &£ 1816 H
10 BRIE |ERTASHERRERFEZREIE |nss-wnrapuwzantsxmess |1,003,934,800 af 3 £12 A 10 @ 81 <M 3 F£12 A 8 H
r
. - X _ . +M 3 &£ 9814 H
11 | E/KEETIE |3F 4 SEHAKEZDOMIE KRXettTry oV vy 8,013,500 6% 4 % 28 48 68 S 3 F£F12HA 9H
r
s o= = _ _ - +M 3 &£ 7H20H
12 | E/KEETIE |3F7SEHAKERIZELE BTy 7 =8E8%| 21,978,000 &% 3 £12 517 B 68 S5 3 £12 A 15 H
r
+f 3 6 A 28
13 BEI1= MILINER Y 75X kR TEHIE |EIREKA ST 4,422,000 Z:ﬂ 3 z 19 E 28 E 66 S 3 F£12 A 22 H
r
+f 3 10 6
14 | EAKEETIE |3FB250HAKRERREILE ket z—Fn 5,218,400 2;142 12212 71 S5 3 £12 A 27 H
r
. . = - X . 4Sf1 3 & 68 4H
15 | EAKEETIE [IRFE6SEHEAERELSE KXtttz BEKiE 52,835,200 &f0 4 & 2318 8 65 S5 3 £12 A 27 H
r

FREHERIE. \BHAERHLVHEITTIERIENORT, N\EHKE

TORFEHIETY,

RERTIERFEFEEAICEDIE, KEFRERHBREBRIREZIToLIEICIOV




